ELCE 2240 HOMEWORK #13 prob 4 solution
F12

Ex: Plot and label the values of the poles and zeros of V(s) in the s plane.
2
V(s)= . 3s 2+ 13
[(s+2)°+571(s" +5s+6)
SoL'N:
We Jactor +the numerator ard denominator of
V(s) 4o Find root +terms +that <orrespond
to poles Calenom}na{or‘) and zeros (numera—bor),
V(s = 3(3+32)(s-32)
(3+245)(s+2-75)(3+2) (54 3)
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Note -

The chLLntj factor oF 3 in ‘the
numerator (3 mLssLng wn the pole—
zero diagram. Thus, we are unable
to determine V(s) Hfrom poles andl
Zerps alone. (T/ze 74£n term may-

be added +o the dc‘aym/n as a
7Coo'{2ho“(?€.)



